Multiplicamos con LEGOS
X2

sPuedes contar los legos para realizar las operaciones?

2+2=

2x2=
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242+42+2+2+2+2+2+2+2=
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Multiplicamos con LEGOS

x5

sPuedes contar los legos para realizar las operaciones?

5+5=

285:

5+5+5=

Ix5=

5+5+5+5+5+5= \

6x5=

5+5+5+5+5=

5x5=|
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5+5+5+5+5+5+5=

x5 =
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+5+5+5+5+5=

10x5 =
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Multiplicamos con LEGOS
x10

sPuedes contar los legos para realizar las operacionese

1. I I I

10+10+10 =

3x10 =

10+10 =
2' 2 x 10 = |

10+10+10+10+ 10 = \

5x10 =

3. III
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10+10+10+10 =

4x10 =

100+10+10+10+ 10+ 10 =

6x10=
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10+10+10+ 10+ 10
+10+10+10+10 =

9x10=

toLIVEWORKSHEETS



Multiplicamos con LEGOS
X2 -%5-Xx10

sPuedes contar los legos para realizar las operaciones?
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o=

5+0+0+5+b=

5x5=

10+10+ 10+ 10
+10+10+10 =

7210=
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2+2+2+2=‘
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10+10+10+ 10+ 10 +
10+10+10+10+ 10 =

10x 10 =
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